Question Paper Name:
Subject Name :
Creation Date:
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Section Id :
Section Number :

Section type :

Nnta

B TECH EK 26th Feb 2021 Shift 2
B TECH EK

2021-02-25 13:53:52

180

90

300

Yes

B TECH EK

1
708191233
0

180

No

No

300

No

Physics Section A

708191976
1

Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911256
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819121544 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

Options :
In5
t‘) 1'.1
70819169781. -
In(ty, + t;)
70819169782. 2
.tz £

70819169783, In5

70819169784.

Question Number : 1 Question Id : 70819121544 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

2 — 1y
70819169781.

70819169782. 2

70819169783, In>5

70819169784.

Question Number : 2 Question Id : 70819121545 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819169785, Both A and R are true and R is the correct explanation of A

70819169786. Both A and R are true but R is NOT the correct explanatirm of A



70819169787 A is true but R is false

70819169788, M i false but Riis true

Question Number : 2 Question Id : 70819121545 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

A 3 R o0ER %0 B R, A R B003RT =0
70819169785. = = = = &

A @33 R 2UER 30 =00 R, A i 00ind Q=tscmiddybw
70819169786. = o

70819169787, * ©O ST0 R 3

A 3T 8BS R 30
70819169788. =

Question Number : 3 Question Id : 70819121546 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz, When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?



Options :

70819169789, -0 iz

70819169790, -8 Hz

70819169791, 342 Hz

A0
70819169792, ~+2 Hz

Question Number : 3 Question Id : 70819121546 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¥Rd 39000 3TN A Qowm wFE M0Hz oom 90T IS B odeodn T
ABORN 50T SHSNYA, WOLDTRRIT. IS A oI, wUEmRR LIOT LHFENW

F@CIBN %& 20T AFOAM 2 003 Fewbd3R. TwmTD A’ 3 I3R0R $FE am ?
Options :

70819169789, ~-° Hz

70819169790, -8 Hz

70819169791, 242 Hz

A7
70819169792, -2 Hz

Question Number : 4 Question Id : 70819121547 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819169793.

0 1 2 3 4 5 i)
70819169794.

ol 1 2 3 4 5 ts)
70819169795.

of 1 2 3 4 5 ts)
70819169796.

Question Number : 4 Question Id : 70819121547 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
of 1 2 3 4 5 ts)
70819169793.
of 1 2 3 4 5 ts)
70819169794,
of 1 2 3 4 5 ts)
70819169795.
of 1 2 3 4 5 ¢t
70819169796.

Question Number : 5 Question Id : 70819121548 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819169797, Both Statement I and Statement 11 are true

70819169798. Both Statement I and Statement 11 are false

70819169799. Statement | is true but Statement Il is false

70819169800. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121548 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

Fed 1 s Deed 11 otrdn IO
70819169797. =

eed 1 oo IJeed 11 o0ER @m,;

70819169798. =

70819169799,

70819169800. w



Question Number : 6 Question Id : 70819121549 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:

[—27 -312T6
70819169801.[M o

] 3 413 7
70819169802, M "L " I"T']

1—2 41377
70819169803. Lo S L

[-11-31-2T-7
70819169804. Lol i i 4

Question Number : 6 Question Id : 70819121549 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C/V=\ ehay, 9809 C @B V ned gmmh oosd @) Qganead,  J
golRmMae ?

Options :

=2 3126
70819169801.[mir G

f 3 413 77
70819169802, M "L "' T']

=2 41377
70819169803. LR i

g—1 3 2 7]
70819169804. Lol s



Question Number : 7 Question Id : 70819121550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be

Options :

70819169805, 108-25 mV

62.50 mV
70819169806.

70819169807, 5037 mV

T
70819169808, ~ 1122 M\

Question Number : 7 Question Id : 70819121550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819169805, 108:25 mV

62.50 mV
70819169806.

70819169807, 58-37 mV

T
70819169808, ~ 1122 ™\



Question Number : 8 Question Id : 70819121551 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord is wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
2gh
708191698009.
2¢h
[ + mr2
70819169810. S
- 2mgh
1+ mr2
70819169811.
2mgh
>
70819169812, |+ 2m1

Question Number : 8 Question Id : 70819121551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

2¢h
708191698009.

2
70819169810, | mr



2mgh

-
70819169811, .+ mu
2mgh
v
70819169812, + T =M

Question Number : 9 Question Id : 70819121552 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819169813.
.l( ; ) 2
tan 1|E fudl
al P
70819169814.
f.'l'.z
tan lt'l'.,, E
70819169815.
'—1:['!'.2
tan l(.'l'.,.
70819169816. B

Question Number : 9 Question Id : 70819121552 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
2
oL
tan l[:'.r 2—
70819169813. P
5 \I . 2
tan 1{_ s
-_CI'./' B
70819169814,
-
o
lan lu,, 4_
70819169815. P
At
tan lct, T
70819169816. b

Question Number : 10 Question Id : 70819121553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

«———@——TU0EIII0——@
F B A
Options :
MFE
F+ Ma
70819169817.
F+ Ma

70819169818. M



‘Ma —F

70819169819.

'F — Ma
M

70819169820.

Question Number : 10 Question Id : 70819121553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
~ MF
+ Ma
70819169817.
F 4+ Ma

70819169818, M

‘Ma —F

70819169819.

'F — Ma
M

70819169820.

Question Number : 11 Question Id : 70819121554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I~ :  An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement II :  If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :
Options:

20819169821 Both Statement | and Statement Il are true

70819169822. Both Statement | and Statement 1l are false

70819169823, Statement 1 is true but Statement 1l is false

70819169824. Statement 1 is false but Statement 1l is true

Question Number : 11 Question Id : 70819121554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819169823, =

[E S
70819169824.

Question Number : 12 Question Id : 70819121555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for ime t, at constant rate a, and then retards at constant

rate a, for time t, and comes to rest. The correct value of t_l will be :
g 2 2

Options:
2
dg
70819169825.
a
d
70819169826.
i-.:ll | iﬂz
dy
70819169827.
.Ell | 3.2
70819169828, 2

Question Number : 12 Question Id : 70819121555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

2

dg
70819169825.

a

d
70819169826.

al | 32

dy

70819169827.

.Ell | a;,_

70819169828. 2

Question Number : 13 Question Id : 70819121556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gas is :

Options :

monoatomic only.
70819169829. .

70819169830, diatomic only.

70819169831 polyatomic only.

either monoatomic or diatomic.
70819169832.



Question Number : 13 Question Id : 70819121556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wom ©TIF $AVT 80308 33 (U), 38 (P) @& mg (V) ned, U=3PV+4 20

FOWOHATHNT. TomTE WAL :

Options :
70819169829, EDEOSERIRNIE SRS

OHFTTREDNAT 00T,
70819169830. = e

70819169831.

DFLCDIENDT UPT0 OFTRIENDT SNTOL IR
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Question Number : 14 Question Id : 70819121557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil sp eed of a h}-'drogc-n atom after it emils a photon in going fromn=>5stateton=1
state will be

Options :

70819169833, 34 m/s

70819169834, =17 m/s

3.25 m/s
70819169835.

219 m/s
70819169836.



Question Number : 14 Question Id : 70819121557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L0 HBOLRNT TORTEN WO FpeERaD, BROUARAT J080 n=>5 %&wod n=1 % ey
=
EL@fmgdo:m,ma' BOENT D0RREVAT LOBAZD LR

Options :
70819169833, +34 m/s
70819169834, =17 m/s
3.25 m/s
70819169835,
219 m/s
70819169836,

Question Number : 15 Question Id : 70819121558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I ! when tension initis T " It is 1'2 when the tension is Tz' The
original Ic-ngth of the wire will be :

Options :
Lo+ 1,
70819169837. 2
b < B, 8
)
70819169838.
T4 - Tk
T, - T

70819169839.



Tl — Ty

T, — Ty
70819169840, -

Question Number : 15 Question Id : 70819121558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
YA
70819169837. 2
b < B, 8
R
70819169838. -
T4 - Tk
] T
70819169839, -
T4 - Tyl
T, — Ty
70819169840. =

Question Number : 16 Question Id : 70819121559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819169841.



a parabola.
70819169842.

70819169843, a0 ellipse.

a helix.
70819169844.

Question Number : 16 Question Id : 70819121559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819169841. i

70819169842, T rw ECRICII)

20 0T
70819169843. &

20T @Wo.meFa
70819169844. “‘

Question Number : 17 Question Id : 70819121560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
.—3 l—) l—) & z .
vectors a, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— ==
i — K

70819169845, D=



— | —

1E=;; 2{;:' c/c

70819169846
b=at2c
70819169847.
b=2a+c
70819169848,

Question Number : 17 Question Id : 70819121560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fmameh TE 0, B8P3 $T DI, TRTMINE Y0 LowTednT®, LERRT ANINTD
¢

—}—}._
a,b =

-

00 ARWAORNTE. Tmons 8 AOINER 00T xoaac-:jmct% e%m&a
Options :

70819169845.

70819169846.

70819169847.

70819169848.

Question Number : 18 Question Id : 70819121561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

TS
100mH g0

") V =30 sin 100t

P

120 0)
Options:

)
70819169849, > -+ and 50 Hz

70819169850, -2 A and 50 Hz

70819169851, 2 4 and 100 Hz

7 A
70819169852, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 890 NeRTE OBV nu,,: wa,s*‘mmf :mf. @hoesod em &mi FOR&LBONO
(3353 3Re0ATHT03).

Mm—”f

100 wk

o

)V =30 sin 100t

120 02

Options :

A =y B
70819169849, - -+ =050 Hz



17 A ==y 5
70819169850, -+ =% 20 Hz

2 A @3 100 Hz
70819169851. e

0.2 A =3 100 Hz
70819169852. =

Question Number : 19 Question Id : 70819121562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the f igure. A bod}-' of mass 1 kg_ and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

V3

[g=98 m/ % sin 3[]'J=%; oS 3[]”=?]

—
E=200N/C

Options :

70819169853.

70819169854, 138

70819169855, 092 S

70819169856, 0-0'S



Question Number : 19 Question Id : 70819121562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200 — S AN0RT §8% LOIMIVDW, AT §30RY §8%F 3(° acdam,olaRAmE0E
C & = =, O W MW 9 a

QOAT. 230 1m 00 008 1kg @) €3 5mC JWE womh Foba®, AT A3chod

=5

FHROARNG. ToaFm ooty 0.2 eﬁq’p’, fohay) 9N 3L0Ted NWBROE AZONPY)

V&)
?J

| .
[g=9.8 m/s% sin 30°= E; cos 30°=

L)

—_—
E=200N/C

Options :

70819169853.

70819169854, 13

70819169855, 92 S

70819169856, 00'S

Question Number : 20 Question Id : 70819121563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of 1 {2 has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest integer is :

Options :

-
70819169857, *° "



»
70819169858, 0%

259
70819169859. o

2.5%
70819169860, 2>

Question Number : 20 Question Id : 70819121563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
deeg 11 Tpohitha Lo 300D &mréj@ I m Q8. ©ao wt&@ Je3@ 25 HOFoIRMEITN
@d?ﬁ% sﬁ;u;'a;mﬁdomda' mﬁmﬁéﬁ a:igsmﬁ, Y0 TRGHY SnuTImE JeERHIT

Options :
o
70819169857, °
e
70819169858, 0%
5%
70819169859. =
2.5%
70819169860, =
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Question Number : 21 Question Id : 70819121564 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The zener diode has a V.=30 V. The current passing through the diode for the following
circuitis ~ mA.

4k
AW

'
~
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121564 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819121565 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) 5
Time period of a simple pendulum is T. The time taken to complete 3 oscillations starting

a g - 3
from mean position is —T. The value of ais

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121565 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819121566 Question Type : SA

The volume V of a given mass of monoatomic gas changes with temperature T according to

2
3

the relation V =KT~. The workdone when temperature changes by %0 K will be xR. The

valueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id

Correct Marks : 4 Wrong Marks : 0

: 70819121566 Question Type : SA
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121567 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
x1is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121567 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121568 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121568 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
ﬂu% und SWRIracod WBIP 5 kHz ©hgd, W kHz TWoLYITY woNILTT
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 26 Question Id : 70819121569 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA:ABwillbex:y Thevalueofxis__ .

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819121569 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121570 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Q
1 mole of rigid diatomic gas performs a work of — when heat Q is supplied toit. The molar
J

. : : bl i _
heat capacity of the gas during this transformation is 3 Thevalue of xis ___

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 27 Question Id : 70819121570 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121571 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris _____ cm.

S
50 cm —

60 cm

—_— 12
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121571 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121572 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes S.H.M. with amplitudr_- ‘a’ and time pr_-riod “T". The displacomont of the

particle when i alueofxis

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121572 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121573 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis ___ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819121573 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

30RO 10V TeoOME0E 27 %0T¢ Ded0D TRMUTAT TN, & 2y
AT, LOT TG ZRCIRN FOILEEICNTORTT TAT BI0L TPy

¥

BH  TasId.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 31 Question Id : 70819121574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

708191978
3

Online
Mandatory
20

20

80

Yes

1
7081911258

Yes



Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
(¢ F, (iii) 0
(d) O, iv) 3

Choose the correct answer from the options given below :
Options:
70819169871, (@) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819169872, (@) — (v), (b) — (iii), (c) — (ii), (d) — (i)
20819169873, (@) — (ii), (b) = (i), (c) — (iv), (d) — (iii)

20819169874, (@ — (i), (b) — (iv), (¢) — (i), (d) — (ii)

Question Number : 31 Question Id : 70819121574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

m&,_%_:-ld AT e-11 m% BrRODAD

Ze3-1 -1

(eseeonieh) (Logmedr)
(a) Ne, @H 1
b) N, (i) 2
o F, (iii) 0

" (iv) 3
FER Ltz eoﬂ;;ﬁ@;’-g 1) wgdajm% =D20.

Options:
70819169871, (@ — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819169872, (@ — (W), (b) — (iii), (c) — (ii), (d) — (i)



20819169873, (@ — (i), (b) —= (i), (c) — (iv), (d) — (iii)

70819169874, (@ — (i), (b) = (iv), () — (i), (d) — (ii)

Question Number : 32 Question Id : 70819121575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe(l, is added to excess of hot
water is :

Options :

70819169875. positive
70819169876, negative

70819169877, neutral

70819169878. sometimes pOSI’LIVC' and sometimes nr:-gatwe

Question Number : 32 Question Id : 70819121575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FcCIﬁd:?J:ﬂl ©0F Jgored VA AON Tedten WRTCIE 390 FnY CHeID Aoy
Options :

70819169875, &

70819169876, P

2
70819169877. i



70819169878,  © e T e S e Sniasaa

Question Number : 33 Question Id : 70819121576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :
Options :

70819169879, © >S5 >5e>Te

70819169880, 1e>5¢>5>0

70819169881, 0~ O >Se>Te

70819169882, °>5e>Te>0

Question Number : 33 Question Id : 70819121576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LETWTF NPT OTROCH ROCIRT TFD :

e

Options :

70819169879, © >S5 >5e>Te

70819169880, 1e>5¢>5>0

70819169881, 2~ O >Se>Te

70819169882, ©~>5¢>Te>0



Question Number : 34 Question Id : 70819121577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
(a) Siderite 1 R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
70819169883, (@) — (1), (b) — (i), (c) — (v), (d) — (i)

70819169884, (@ — (i), (b) — (v), () — (1), (d) — (iv)

70819169886, (@) — (iii), (b) — (i), (¢) — (v), (d) — (ii)

Question Number : 34 Question Id : 70819121577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T3-10 ded =l BRODAD !

-1 wed-11
(a) ATOE* (i) Cu
(b) wOBWT (ii) Ca
() w=oTEr(dEF) (i) Fe
(d) Bolmedir (iv) Al
) (v) Zn
3N LeRTT soyNeY HORG Yw3TR®, SOAD.



70819169883, (@) — (i), (b) — (ii), (c) = (v), (d) — (iii)

70819169884, (@ = (iii), (b) = (v), (¢) = (i), (d) = (iv)

70819169885.{a]—+{ﬂ,{b]—é{ﬁL{c]—a{ﬁﬂ,{d]—é{hﬂ

70819169886, (@) — (i), (b) — (i), (¢) — (v), (d) — (11)

Question Number : 35 Question Id : 70819121578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy ~ particles ?
Options:

70819169887, [roton H'

Protium 1H
70819169888. 1

Deuterium 2H
70819169889. 1

Tritium TH
70819169890.

Question Number : 35 Question Id : 70819121578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FENT olw CRIT q&gﬁ&aa‘ ©O IO B ammy_l RBNE BT ?
Options:

SpetoT HY

70819169887.



Bopsodar 1H

)

70819169888.

@yede0ohTF IH
70819169889. ~

e3psoa* 3H
70819169890.

Question Number : 36 Question Id : 70819121579 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-Il.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options :
70819169891, @) = (iv), (b) — (iii), (c) — (i), (d) — (ii)

20819169892, (@) — (iv), (b) — (i), (c) — (ii), (d) — (iii)

20819169893, @) = (), (b) = (iii), () — (iv), (d) — (ii)

70819169894, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tei-1 med-11

(a) AreB@oho Toderedes (i) oz

(b) pachEr (i) DIFT-FFIT
(c) dBpeds* (i) = SFFS
(d) RAnrekobo Z,wE & (iv) =eFale

L) i

FUR QRS eﬂﬁ@ég TOCIRG wgﬂ:jmﬁ =D20.
Options :

70819169891, @) = (iv), (b) — (iii), (c) — (i), (d) — (ii)

70819169892, @) = (), (b) = (i), (¢) — (i), (d) — (i)

70819169893, (@) = (1), (b) — (iid), (c) — (iv), (d) — (ii)

70819169894, (@) — (iii), (b) — (ii), (c) — (i), (d) — (iv)

Question Number : 37 Question Id : 70819121580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819169895, 0203 5102

70819169896, 2203 Ca0

N,O, BaO
70819169897.

70819169898, 20 510,



Question Number : 37 Question Id : 70819121580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
BT 9§ @TNY HecRoin Sarod AEEEy, BRokT ?
Options :
70819169895. Py

70819169896, 2203 20

N-O, BaO
70819169897. -

70819169898, 20 510,

Question Number : 38 Question Id : 70819121581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl, the metal is present in +1 oxidation
state.
Reason R - T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191698909. Both A and R are correct and R is the correct explanation of A
70819169900. Both A and R are correct but R is NOT the correct explanation of A

70819169901 A is correct but R is not correct

70819169902. A is not correct but R is correct



Question Number : 38 Question Id : 70819121581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819169899. AN R Q00BR A0 & Ry ARSNpran A00RT TNk

70819169900, A ™ RA0 4% 8TO R &y AFFFEN FOIRT Fo0wmoNg.
70819169901, A B0 BT ©TT R SN,

70819169902. )

Question Number : 39 Question Id : 70819121582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :
20819169903, “algon contains the 2"d most abundant element by weight in the Earth’s crust.

20819169904. It is pol}-'meric compf}und and is water soluble.

70819169905. It is also known as Graham's salt.



ra (a2t 3 o s a =
20819169906. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819121582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

WOT LRICT SRINID i ©8 HeOY Do, RRODT.
70819169903. 5. Gi -

70819169904, S WIFE FOOINFTNDY, LedTY LTI .
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Question Number : 40 Question Id : 70819121583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCL,/ale. KOH are used for the identification of functional
groups present in v ____ respectively.

Options :
70819169907. alcohol, amine
70819169908, amine, alcohol

70819169909 alcohol, phenol

70819169910, amine, phenol



Question Number : 40 Question Id : 70819121583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%607 spedonar S 238 CHCL/ake. KOHYR, 320N _ D
ﬁ:o:bﬁ@ém% godbone) tZodrehDRD.

Options :

atm Tore T
70819169907, & ARSIy

oy -f"u‘:'r‘_; e
70819169908, == » YORITS

VERCTCT, JToS*
708191699009. v

70819169910. =

Question Number : 41 Question Id : 70819121584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 P& ‘A
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

sp2, sp2, sp2, sp°
70819169911. i i

3 S
70819169912, P 7 5P 5P 5P

o) J 3
70819169913, F 7 ¥ 57 5

70819169914.



sp% sp>, sp*, sp°

Question Number : 41 Question Id : 70819121584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i 2 3 4
CH; =C=CH-CHj 1,2, 3303&® 43¢ RWFSNY 20800 TN 1.

Options :
sp2, sp2, sp2, sp°
70819169911. i i

70819169912, P 5P 577+ 5P

o) J | 3
70819169913, F 7 ¥ 57 5

sp2, sp°, sp2, sp°
70819169914, e i

Question Number : 42 Question Id : 70819121585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2) Cr,O4, 773 K
O 10-20atm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819169915.



COCH,CH,

70819169916.
CH,
CHy
70819169917.
CH,CH,CH,
70819169918.

Question Number : 42 Question Id : 70819121585 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2) Cr,O,, 773 K
O 10-20atm

WEVOT W0CTTERWEY YLOLRTOT Twed YLSSCuD :

Options :

CH,CHj,
70819169915.

COCH,CHj
70819169916.

70819169917.

: MCQ Option Shuffling : Yes



CH,
CH;

CH,CH,CH,

70819169918.

Question Number : 43 Question Id : 70819121586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}f A in the given reaction.

OH

SOCl, _
—— A (Major Product)

HO CH,OH

Options :
OH
70819169919, OH CHy
cl
70819169920, ©OH CHOH

70819169921.



OH

Cl  CH

Gl CH,Cl
70819169922, -

Question Number : 43 Question Id : 70819121586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TN SREWE RReTTRTY ‘AT 0N, MTSA.

OH

SOCl, A
—> A(TEND wI3)

HO  CH,OH

Options :
OH
70819169919. S i Sl S
Cl
OH CH,OH

70819169920.



OH

70819169921, ¢l CHC
Cl
Cl  CH,Cl
70819169922. 2

Question Number : 44 Question Id : 70819121587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A in the given chemical reaction.

CH,CH,CHO —
O: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H>5O

A

l] lI ~CHO

Options:

70819169923.

O

!
.|_c
XL

70819169924 l I

70819169925.



CH,CH,COOH

70819169926. CH,CH,CH,0H

Question Number : 44 Question Id : 70819121587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RIITNT TXRORT AeWe3TTY ‘A’ 9@, MTSA.
: : 5

CH,CH,CHO —
@[ — > A(TROD 2033)
CH,CH,CHO 2H50H, HO

A

Options :
CHO

Q

70819169923.

=0

z:

70819169924.

o

70819169925.

CH,CH,COOH

=

70819169926, CH,CH,CH,0H

Question Number : 45 Question Id : 70819121588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify A in the following chemical reaction.

CHO

i) HCHO, NaOH i
ii) CH;CH,Br, NaH, DMF
CH; iii) HI, A
Options :
1
: _C—OCH,CHj
70819169927, 11O
: _CH,I
70819169928, 11O
: _CH,OH
70819169929, 11O
CH,OH
CH,0" :
70819169930.

Question Number : 45 Question Id : 70819121588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



VB ReResTrRTY ‘A’ cRIW, THTOSA..
J -

CHO & Hero, NaoH "
ii) CH5CH,Br, NaH, DMF
CH;0 iii) HI, A
Options :
1
: . C—OCH,CHj
70819169927 11O
i _CH,I
70819169928, 1O
: _CH,OH
70819169929, 11O
CH,OH
CHA0” :
70819169930.

Question Number : 46 Question Id : 70819121589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
20819169931, (@) — (i), (b) — (iv), (¢) — (i), (d) — (iii)
70819169932, (@) = (i), (b) = (i), (c) — (iv), (d) — (iii)

70819169933, (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819169934, (@) — (i), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819121589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TH-1T ded TR, BRODAD :

Tyl -l
Cl
N i N g 803
(a ©/ _CuGy , P 4, 0) o b
cl

NE*CI_ ) N N .
(b) Q/ Cu, HC @ +N, (i) FROTWEONT SO

(c) 2CH;CHCIHA INa _ % , GHs ~C,H; + 2NaCl (i) $8n° 3ol

(d) 2CH;Cl+ 2Na _ 58 , CHs —CyHs +2NaCl (iv) NLTDT dob
39NT SoNYY HOoRT YUBTTR, BOAD.

Options :

70819169931. (@) — (i), (b) — (iv), (c) — (i), (d) — (iii)

70819169932, @) = (i), (b) = (i), (¢) — (iv), (d) — (iii)
70819169933, (@) — (iii), (b) — (1), (c) — (iv), (d) — (i1)

70819169934, (@) — (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 47 Question Id : 70819121590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
respectively.

Options :

70819169935, aldoses, ketoses

70819169936. ketoses, aldoses

70819169937 Ketoses, proteins



proteins, ketoses
70819169938.

Question Number : 47 Question Id : 70819121590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I mnrvied :?t':rei, odRTresions mgn'e;a:\ Fanamn D W,
~ : ~ - o~ .
mgmam enZoineARR.

Options:

2 ey 2 - oS
70819169935, © R, SHERET

BCEARCRT, BERenT

70819169936.

SetineRAt, BDackda

70819169937. i

70819169938, U, BRI

Question Number : 48 Question Id : 70819121591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «a-D-Glucose and p-D-Fructose
(c) Maltose (iii) o-D-Glucose and o-D-Glucose

Choose the correct answer from the options given below :
Options :
70819169939, (@) = (ii), (b) — (i), (c) — (iii)



20819169940, @ — (i), (b) — (i), (¢) — ()

70819169941. {El] — {]:.], {h] —3 {f_ii], {C] — {]:.i]

Question Number : 48 Question Id : 70819121591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aﬁ%—ld Br3 wed-11 mﬁ_i TRoBAD :
-1

Zed-1 Te3-11

(a) #odRew (i) PB-Diowednem @ B-Dinsecs’
(b) woaex® (i) o-D-MBeem B B-Dpesres
(c) =edrex* (i) o-D-Rdeem’ @WF a-DIRdReE’

FPRT LeRtha eoﬁ;;ﬁ%:ig psfolovvrlw &”&%ﬁﬁ?ﬁ% sHLE.
Options :
70819169939, (@) — (i), (b) — (i), (c) — (iii)

70819169940, @ = (), (b) = (i), () — (I

70819169942, (@) = (iii), (b) = (i), (¢) — (i)

Question Number : 49 Question Id : 70819121592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :

Options :



70819169943, nalogens

70819169944, aldehyde

70819169945, amine

70819169946, Ccther

Question Number : 49 Question Id : 70819121592 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,4-DNP Z0eg00 ), ao®), USSREL YOTOIRENTDD

Options :

o B
70819169943, %R,

£l

e

70819169944, °L=F

=

70819169945. L

70819169946.

Question Number : 50 Question Id : 70819121593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.



Options :

70819169947, 2> B>C>D

70819169948, 0> C > B> A

70819169949, 24> C>B>D

70819169950, P> B>C>A

Question Number : 50 Question Id : 70819121593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. ) DPIJT

B. N,N-%m%@*‘ws}-ﬁaf

C. N-E%Fj wRAOTF

D. fdozeday

CsfcDIAN oV ;'i;zu_—sm; smrbreseh Seds wﬁ:aa‘ﬁﬂ; LOCINT T :

Options :
70819169947, A > B>C>D

70819169948, 0 > C > B> A

70819169949, 4> C>B>D

70819169950, P> B>C> A

Chemistry Section B

SectionId : 708191979



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911259
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121594 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The NaNO, weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na*
per mL is g. (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1. Na:23:N:14:0: 16]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819121594 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5009¢ xdech Towesy) 70.00.MmET Nat @8 ode 89 2obaed odmdmen engama
NaNO;3R8sy) . M9 §Q. (ReL3 TRFVFOTE TREFIRIAPI)

[d_" : TORREN RTINS g mol 1-?.5'2 Na:23;N:14;0:16]

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121595 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121595 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

WOMR ROTHY, TS WOT WNCYWE STHDeOD WOIFNY FoLoW
(Reedsd TRRF OFY, TREFNATAY)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819121596 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms~!. If the uncertainty in its velocity
is 5%, then the uncertainty in its position is %10~ % m. (Rounded off to the
nearest integer)

[Given : h=6.63 10 Js]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121596 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10z aﬁd@% 200 WO 90 ms ‘ﬁmd-:j__ BODFI. O B6Y ©TT Benas ba‘zéiaam
5% ©0U, 200 AWAD YAYII0IN X107 m. (Wnewd Bewmor 08,
TREFNATA)

32 : h=663x10"3]s]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121597 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The average S—F bond energy in k] mol L of SFﬁ is . (Rounded off to the nearest
integer)

[Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121597 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
SFedQod S-F & =moem0 wog 3sodn
TREFNRTARD)

[@Emodnish : SFy(g), S(g) B3 F(g) e Scombm 8% (HRReor) 20mdntd gmdameh - 1100,
275 @@ 80 kJ mol I Aeanal.]

K mol ™1 39, (Mvead Hemorosy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121598 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol 1Y, The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121598 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
122 a7 Zomeeld e:;;rj'i: 100 s E‘bma@ ::9@#%51 wﬁm wwfiuf"

sWT weand A0, {mm B (;ﬁa 100% S N'a:s'd@ zrx:ﬁu]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819121599 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk, of phosphoric acid and pky of ammonium
hydroxide are 5.23 and 4.75 respectively, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 56 Question Id : 70819121599 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TOF SRT pk, DI, YBRADIT T BT pk, IPOND TN 523 4.75

Jo At

G, vRRADTT PoIE oFned pH SPozy .

Lo

Cop

3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121600 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 10 2
Zn/Zn?* (0.1 M)||Ag* (0.01 M)|Ag
Thevalueof xis . (Rounded off to the nearest integer)

2 303RT

[Given : EY =+080V; —F 0.059]

2. =—076V;E
n° fZn A

+

g fAg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121600 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



208 K39 8971 3eedtom doedd HTRROT WO (emf) & R (V) 8 x x 10243,
ZnZn®* (0.1 M)|Ag™ (0.01 M)/Ag

13 BPOZY _ (Ai0ead TRmFOTE BROFRRPAZI®)
: , wanses R IMIRE . i
[G3:E .. =-076V;E , =+080V; = 0.059]

= In"/7n Ag'[Ag F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k] mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e *. The value of x is
(Rounded off to the nearest integer)

[Use R=831] K~ 1mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

womh gohod TenFT I30d 80.9 k] mol 19T T, 700 KIY mowd werieodn @aFa
tm:;&ﬁﬁﬂési:% S0iR0MT ©0bT WNnY xouj e” ¥ SN0, ToMEC 3 ?:u"'aftLQ

(Reledsd TREwer 033, TREFNAPAYT)

[rvzodeeha : R=8.31T K 1mol-1]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121602 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A”. The oxidation

state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121602 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

R0 rﬁ IEOD :mma,aj o, Cu..""fmh.f'fﬁf @m-aa?ﬁ \1110 3 ATohion ‘A’ sh
IAFETRNT. ‘A’ oJ:QJ AOTE wIgmEe Ao .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 60 Question Id : 70819121603 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for [Co(ox),(Br)(NH,)]?
[ox =oxalate]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121603 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Co(ox),(Br)(NH,)~ 7 TREENE §Rnde0d IRRWONY Fo(Mw) o .

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id : 708191980



Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911260
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819121604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=81s (o, B, v),
then 5(a+p +7) equals :

Options :

70819169961, 39

70819169962, 41

43
70819169963.

70819169964, */

Question Number : 61 Question Id : 70819121604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1,3, 5) Lomey THFee TSWOW 4x -5y+2z=8 NIOF, FOUOPATOT (w, P, 7) BW. &N
5(cc+ B +y) 23D :



Options :

70819169961, 39

70819169962, 41

43
70819169963.

70819169964.

Question Number : 62 Question Id : 70819121605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetA={1,23 ..,10}and f: A — A be defined as
.fk“kll if k is odd
" e 4" k if k is even
Then the number of possible functions ¢ : A — A such that gof=f1is :
Options :
51
70819169965.

l{]{:
70819169966. 2
70819169967.
70819169968, 10°

Question Number : 62 Question Id : 70819121605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A={1,2,3 .10/ f: A — A gD, D008

flk k+1 k3 soon
k , ks <soen

gof=f TNT Y ¢: A— AN T IoNH= &03INE R0, :
- o L o ] [T o

Options :

51
70819169965.

“]C
70819169966. 2

55
70819169967.

70819169968, 10°

Question Number : 63 Question Id : 70819121606 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosz,

r-axis and X :% in the first quadrant. Then,

Options :

20819169969 Al - :’-"Lz=1 : 2and Al I A?_=l
20819169970, A A= \E and A, +A,=1

20819169971, ‘1= A2 and A+ A =2

2 — = :
70819169972, 281~ Az and Ayt Ax=T1+4 2



Question Number : 63 Question Id : 70819121606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ay Q0m0T0 FFOCLNW y=sinx, y=cosx :1.3_:‘ y-t‘:?ir‘i@éod PR BRPFITY t&ﬁégﬁ?d

[

EQ‘@I&D’ [OETR), Tone A, Q0L [FOELN y=sinx, y=cosx m@_.: x-@ﬂ maz =
nyow TP ‘:a"o":C;deQ emﬂgmm iﬁ%ﬁ@d woegyy). on,
Options :

2 — o Py e egde, Al
70819169960, 17 A2=1:2803 A, +A, =1

A, A= ;] A, +A, =1
70819169970, 1 "2 V2 =172

A=A, DDA +A,=_
70819169971, e i oA T V2

70819169972, 281 = Az 3 A+ Ay =114 2

Question Number : 64 Question Id : 70819121607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fO0<a b<1 and tan la+ tan ! b = % then the value of
@+ b) azlhr2 I a‘.ilbr3 a+b I )
> 2 1 s 15
Options :
70819169973.
2
70819169974.

>
70819169975, 082



'
ln:}gE
70819169976. hea

Question Number : 64 Question Id : 70819121607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D'-‘ia,l‘uil,m."‘q.'-'k_; tan la+ tan ' b= —

x |
| : 2 o 4
(a +b) [f—fgi—} | [a b ] [ i ] o oD

[

Options :

e
70819169973.

el—1
70819169974.

)
70819169975, 1082

. e
e

lf}gﬁl ;|

70819169976. heia

Question Number : 65 Question Id : 70819121608 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2
xy
X

b1 .
*’r. If the curve

Let slope of the tangent line to a curve at any point P(x, y) be given by

intersects the line x + 2y =4 at x= 2, then the value of y, for which the point (3, y) lies on
the curve, is:

Options :



03 | =

70819169977.
18
70819169978,
18
70819169979, 35
18
11
70819169980.

Question Number : 65 Question Id : 70819121608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
Dot TFsy KIFdetot womh FEdessA olmPmEdRom Bom Py, y)7y LV O,
3 X
BT, FF0eaIond x +2y=4 CeaodD), x= -2 FeDATT, Lo (3, y) Igoeaiod Fed
?%ﬁyaﬁﬂ:

Options :
=
5
70819169977.
18
70819169978. .
18

70819169979, 35

18

70819169980.



Question Number : 66 Question Id : 70819121609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

om 2 -
The sum of the series S = Fén + 10 is equal to :
r::l (?.I‘l + 1)!
Options :
e IR
70819169981, ° 8
B 2o ey
70819169982, © 8
%} |-%? R [
70819169983.
41 19 4

70819169984, 8 8

Question Number : 66 Question Id : 70819121609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

\}'- n?‘ + 6n+ 10
= 2+ 1)

83 Zeedod WRIFY TTT, AN

n=1
Options :

%el Ee_l 10
70819169981.

ﬂe | o S ||

70819169982, ° 8



%c I l—: e L —10
70819169983.

41 19 4
—p—- — p 10
70819169984, 9 8

Question Number : 67 Question Id : 70819121610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x)= Iet f(dt + e” be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819169985. ~

70819169986.
70819169987.

70819169988. ~

Question Number : 67 Question Id : 70819121610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

f(x) = Iet f(dt + e zomd dEF, eI, oA Vxe R o f(x) XD :
0
Options :

2e(e*~1) 1
70819169985.



70819169986.
70819169987.

2
70819169988.

Question Number : 68 Question Id : 70819121611 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(a) - af(x)

X
Let f(x) be a differentiable function at x =a with f'(a)=2 and f(a) =4. Then lim = =l
J J J e s

equals :
Options :
7,
70819169989, 22 4
. 7,
70819169990, 22
. ‘
70819169991, 22 T4
at+4
70819169992.

Question Number : 68 Question Id : 70819121611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
xf(a) = af (x)

fl) D&, w0, Nt x=a3Q f(a) =20 f(a) =4 1@3R00A, & lim =———"* ofy

by I—a X—a4a

DY) :

Options :



70819169989. ~

70819169990,

70819169991, 22 14

at+4
70819169992,

Question Number : 69 Question Id : 70819121612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ L. _n
X —x=2 :
Let f(x)=sin" ! x and 8(*) = am. B If g(2)= Im}J g(x), then the domain of the
i X X x—=2

function fog is :

Options:

{ oo, =21 W l ;f s
70819169993. =

( o0, 2] ) %f o
70819169994, LI

{— o — I, =)
70819169995,

r 2 ' ]-r

70819169996, ' R bl

Question Number : 69 Question Id : 70819121612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2 sy

flo)=sin1 x 3 8(¥) =

2x x—6 x—2

E@Q‘:
Options :

_ .

(-, zlu{ ]
70819169993. =

' : \.

e |-, )
70819169994 W AR

[— o~ w2 ooy
70819169995.

(—2, =31, =)
70819169996.

Question Number : 70 Question Id : 70819121613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P be a point on the circle (x 174 (y—1)

I eng. 8(2)= limg(x)

$aT, on fog WWIIT

2

=1

such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819169997, 2" cllipse

70819169998, 2 yperbola

70819169999, @ parabola

70819170000, @ straight line

Question Number : 70 Question Id : 70819121613 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A(1, 4) 333 B(1, -5) Rogniwend.  (x-172+(y-1°=1337 edy 2omd P &,
(PAY2+ (PBI 1t riog ddon ShGY et P, ASbd) BROMAD IRJAT ed 23,
Options :
DeFr= @
70819169997. o

oTh @ Ioieee)
[r}

70819169998, = 3

70819169999, XOY TOBWOL

70819170000, O FOFUED

Question Number : 71 Question Id : 70819121614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —

If vectors ay =xi — j + k and a, = i +yj + zk are collinear, then a possible unit vector

parallel to the vector xi 4 y j' 2k is:

Options :
-
- \—jtk
70819170001. V2
1 tf M .aJ
— |1 § ok
’Jr
70819170002. V3
1 E A A M ]
— ¥ + j k|
70819170003. V3

70819170004.



e
hﬂ| =

Question Number : 71 Question Id : 70819121614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AQINW ap =xi — j+ Kk WR ay =i +yj +zk 3R EJEGL?SJ?% AOINEY. 87T, &n
RiR0TT ROBE xi +yj +2k A WGI 2RI DIXOBY:

Options :

51 =

70819170001, ¥

ST
70819170002 Y

70819170003, V3

70819170004, V2

Question Number : 72 Question Id : 70819121615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LetF,(A, B,C) = (AA~B) v [~C A (Av B)]v ~Aand F,(A, B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options :
70819170005. F, and F; both are tautologies



70819170006, l"'l is a tautology but Fz is not a tautology

70819170007, Fl is not a tautology but F:1 is a tautology

Both F; and F, are not tautologies
70819170008. e

Question Number : 72 Question Id : 70819121615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
35y Fi(A,B,O)=(AA~B)v[~Ca(AvB)]v~AA Fy(A, B) =(AvB) v(B—~A) TR

T0EFE e.-ca:-nﬁr".@;:, ShiF
Options :

70819170005.

70819170006.

70819170007.

F, 503 F, 2UBR tthoind «.
70819170008. A o o

Question Number : 73 Question Id : 70819121616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number

so formed is divisible by 2, is :

Options :

M]lu.

708191700009.



1E-9

70819170010.
1
70819170011, /
4
70819170012

Question Number : 73 Question Id : 70819121616 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DL BoINY BoLBOI 3,3,4,4,4,5,5. 81 S0INLOT VOERTT, Lo SLOERNMLE H0T,000

o o

2000 ohaten WA RoP@aeoh3oln

Options :

‘-a,}l'__,_].

708191700009.

3| o

70819170010.

‘-H]|._-.-

70819170011.

‘-.J|4-_..'

70819170012.

Question Number : 74 Question Id : 70819121617 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following system of equations :
x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options:
70819170013, has a unique solution for all a, b and c

20819170014. has a unique solution when 5a=2b+c¢

70819170015. has infinite number of solutions when 5a=2b+ ¢

70819170016. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
asdﬁ@oj:@. QUIT MENCFTEANE
xt+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c SN0
2g a, bR, W TTB TR0, &N FBVAOLYT RARETTLND

Options :

Va,bma cngen L83 ToTCLG.
70819170013. =

5 I8 237 TOTTRS.
70819170014, 22 =2b1cEWT HTT WOTITAL

s § ey o T e S

Va, bad cier TOTOOLY.
70819170016, T RSO ERYH S0OBmITND



Question Number : 75 Question Id : 70819121618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius r’ is :
Options :
70819170017, AAn isosceles triangle with base equal to 2r.

20819170018. A right angle triangle having two of its sides of length 2r and r.

An equilateral triangle of height 2—:
70819170019. :

An equilateral trianele having each of its side of len th. 3T,
70819170020 3 & 8 gth 31

Question Number : 75 Question Id : 70819121618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T SRRY FTIQY NOFY FeITOT PHTI, oISFeDATIN :
Options:

70819170017. x

I r eSS AOE TOBNYR. BROOHT wowdres Srhnmnd.
70819170018, = =00 EEUCIEL S TaoiREc, BEODENE SomBce ArbesBhs
i 2IORY, T Sghemons
70819170019. 3 = %

TE0IROTN @D m‘ad@'ﬁr SN0E DERTY SN,
70819170020. — a2 -



Question Number : 76 Question Id : 70819121619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c + + )
equals :

Options :

68
70819170021.

=i
=
I3

70819170022.

(=1

70819170023, 136

=l

70819170024, 142

Question Number : 76 Question Id : 70819121619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y2 +z=6 R y+2=4 F VWD IPIONG FeOFLOT LLORNWS Ted L «hdd.
L 0ed3T (3,2, 1) RomR0T Pla, B, y) DO TG, ©OWRWT, 21wt f+v) T D0w
Q0E AW :

Options:

68
70819170021.

02

(=1

70819170022.

70819170023, 136

=

70819170024, 142



Question Number : 77 Question Id : 70819121620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Letf: R — R be defined as

=

arZ + x H,if-1=x=<1
| sin(x), il x >1

If f(x) is continuous on R, then a + b equals :
Options:

70819170025.

70819170026.

70819170027.

70819170028.

Question Number : 77 Question Id : 70819121620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f:R = R@,50948

[ x ) .9
'Esinl '—|,x{ 1008
| | 7 )
il
X) = 5 2 -
f(] llax" +x+bl, " 1=x = 1300
| sin(mx) . XF 100

R 30¢d f(x) 2028 37900, a+bame) !
Options :

70819170025.



70819170026.

70819170027,

70819170028, °

Question Number : 78 Question Id : 70819121621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
12 y2= 1 is a circle of radius r, then r is equal to :

Options :
1
70819170029, *
1
70819170030. 2
.
?
70819170031, <
1
70819170032.

Question Number : 78 Question Id : 70819121621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g Qza_.,@'ﬂg;ﬂ | y-:lﬁyt-‘_.a‘i; (3, 2) DODNACE TeRIOBE DHLOWE) NOWTHDRT, ‘I’
BT, A

Options :

70819170029.



| =

2
70819170030, 2
1
;
70819170031, <
70819170032.

Question Number : 79 Question Id : 70819121622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=5and y S o y > z. Then the number of odd divisors of n, including 1, is :

Options :

70819170033.

70819170034. =

70819170035. <

70819170036, °F

Question Number : 79 Question Id : 70819121622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TPRT HTDSFAATENOT 2O FEFINT 03000 n=2"3Y5"TRAT, 9 yMAzAL y+ 2=

1=Z,y> NG9, n' S U3 mudnd JoBod 13, wwieorod:
3 o -

E&Eiy_llz :

Options :

70819170033.

70819170034. =

70819170035. =

70819170036. °F

Question Number : 80 Question Id : 70819121623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y log, t ' (1)
For x > 0, if f(x)= -I‘{;}g—lﬁt]dtr then f(e) 4 fl % | is equal to :
Y,
1

Options :

70819170037, U

70819170038.

M| =

70819170039.

70819170040.

Question Number : 80 Question Id : 70819121623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

f(x) = J‘{IGB*‘ dt, x>0 =n f If|—\'| ) :

(14 t)
Options :

70819170037, U

=l

70819170038.

M| =

70819170039.

70819170040.
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Question Number : 81 Question Id : 70819121624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191981
6

Online
Mandatory
10

5

20

Yes

1
7081911261

Yes



1

L, .= Ix’]‘_l{l x]"_l dr, form,n = 1,and

0

1 m-1

X .

= ol ae R, then a
m+n m, 1 r ’
0 {1 | 1)

equals .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4 il B
1 m—1 b! 1

X
L= Il']]]_l(l xj"_l drm,n = 18, 33

- dx=al : )
mn mn,a s RSN
=g (1+x)

0

x Q} i £8 N S
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121625 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

7+5/ <4 and 2(1 +i) +Z(1 —i) > - 10,i = V1.

If the maximum value of |z+ 12 is .u' | Iﬂﬁ, then the value of (a+p)is .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121625 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

245(< 43 21 +1) +Z(1 1) > ~10,i= V71, 2 8 wep Rosessr Rosirieay, SpzaREd
o+ B2 [z +1PS nom BTt (ot )3 Bl
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121626 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, Z\E], and given that 'a_ 2,/2 b=3 then

(a®+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 83 Question Id : 70819121626 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
©OWTEDNE RTINS 00T FF0I0N FS0ULOD LWOTIT FRYT (a, b) TRDRMIT.

Seesions (3, -3 (4, - 27, Y HROT TAAN, DA a - 247 b= 3, LRHTT03
=00 @2+bX+ab)odn A A&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121627 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 5x% + 102 + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, |a|is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819121627 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



200 +524 +100° + 1022 +10x+10 8 WTTBRCION Y TET TWORED (a, a+1)
©03TeHRONY V. 2P ‘2’ oI WO WRWOFOE. N aj O N AW,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819121628 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 1

Let X, X, ..., X,q be eighteen observations such that l(}(i a) = 36 and l(}(t [5)2 =90,
i=1 i=1

where o and [ are distinct real numbers, If the standard deviation of these observationsis 1,
then the value of @ — Bl is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121628 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



el
o

1
Qo QEFRMS LT TTOIND B TN > (Xj—a) =36 DD
=1

ﬁ(xi B)? =90 Y a0 PIS0 Ted AT A0GNW. B TIRWOINY TBREE QWOTH)
j=1
16800 |[a-p|B BS0 1 A

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
[fthematrix A=|0 2 0 | satisfies the equation A® + oA +BA=]0 4 0] forsome
a0 -1 00 1

real numbers « and 3, then p—« is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121629 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 0 0 1 00
SRIFA={0 2 0 |ow mestee AY +oA” +pA={0 4 0| J2TARIS TOT
30 -1 IR
DY xc-:.%rifé: a ) BTN &N - a TP :
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a and f be two real numbers such that a+p=1 and af=-1. Let p =(a)"+ ()",

' iy
Py-1=11and p, ;=29 for some integer n = 1. Then, the value of p, 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o 333_3‘ p s Q0@ mﬂm plekalatey Eﬁt’%g atp=1 333_3‘ afp=-1. 80 p,=(a)"+ ()",
Pa-1=1183 p; 1 1=29%, n = 1 TOF) BREFOBNTA. &N pﬁ o
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121631 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121631 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 - ©08nY x’c-s:'aéri@é Wi x’c-sjéﬁ@;: oPned 180 He3n m% Fm“a ondn) 3 SAG,
[

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819121632 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p“' and q”' terms of the sequence
16, 8, —4, 2, ... satisfy the equation 432 -9y +5=0, then ptqisequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121632 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 ReeFoee 42 -9+5=03), 16, 8, -4, 2,... IeBOL ATROIT TG, DR WRREST

SREEYR pY B qF IIND, JATAG, prq_____ADR,

) R
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves dx? 4 91}2: 36 and (2v) {23;)2: 31. Then the
square of the slope of thelineLis .

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819121633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
407+ 9y* =36 3 (20)*+ (2y)*=31 Sge2dne mane, I3rdesd L snhod. on L Sebod
Wbl d/nFyy .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



